Question Paper Title : TI_26

Date of Exam : 20-07-2019 02:30 PM

Reference 1D:(14898) gredr: 1234321 =

A1 x 1111

B.1001 x 1001

C. 111 x 111

D.121 x 121

Answer: A 1111 x 1111
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Answer:
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Reference ID:(14889)  Rasr SIft v Wi FagH @ qul &
4,5, 8,27, 104,

A.208
B.312
C.525

D.436

Answer: C.525

Reference 1D:(14621) Choose the appropriate conjunctions for the given sentence:

She is very bright. she stands first in all the subjects.

A.But
B.However
C.In fact

D.Otherwise

Answer: C.In fact

Reference ID:(14858) TS WA¥dd HoT (SRUHTH) GRAT WAAUD! $o U 3MTR?

A TS
B.gUI

C AR
D.Al¢S

Answer: C.AMTYR



Reference 1D:(14619) Choose the option with the best prepositional phrase to complete the given
sentence:

| shall meet you for the match at 7:00 pm sharp,

A.by my watch
B.in two minds
C.on demand

D.by force

Answer: A.by my watch

Reference ID:(14877) SR F = 6, MAT = 34, AR CAR fdbdt 3d?

A.21

B.22

C.25

D.28

Answer: B.22

Reference ID:(14864)  ddg BSUHIN & HERIFM T HAT 3R,

A.159
B.16 9
c.187

D.19%

Answer: C.1 83

Reference ID:(14629)  faoiedr Wegirerq favgrd 2rsg i,
Uit — famm=it X

A3

B.3Ad



C.3ffa-r=it
D.I g

Answer: C. 3{fam=h

Reference 1D:(14602) Choose the option that has the correct spelling.

A.Centigrede
B.Centegrade
C.Centigrate

D.Centigrade

Answer: D.Centigrade

Reference 1D:(14606) Choose the correct form of adjective for the given sentence:

The school children feel to return home.

A.happily
B.happy
C.happier

D.happiest

Answer: B.happy

Reference ID:(14642)  Uald ArTdid SURRAT ST UhR I5l.
faemararaTdt T Ya TTHT TS Gl el 376

A TSN 30T
B.SHITad! 3{ey

C fopaniarivu sreqy
D.haayaNit e

Answer: c.forarfaxur sy

Reference ID:(14879) <9 YdUgRlgd A0l Iuadi Tieh. G HIc MBI SHTHT S 35?2



Answer:

Reference 1D:(14626)

Answer:

Reference 1D:(14870)

Answer:

Reference 1D:(14614)

A.8/7
B.7/8
C.3/8

D.8/3

B.7/8

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

The old lady gave the children an earful for nearly knocking her over.

A .listened
B.heard
C.spoke harshly

D.lamented

C.spoke harshly

SHART 2019 Hedl, WMy HiiteR) uRkug Y AT et el
B,

AT
B.3MFRIad!

Choose the correct form of verb for the given sentence:

What seemed to be insurmountable obstacles a while ago, now to
be stepping stones.

A.seem
B.seems
C.seemed

D.seemingly



Answer: A.seem

Reference ID:(14894)  12,18,21 30T 28 TT YA T AHTST 3T 31=M 4 3t Taid AIST T

A.9828
B.9288
C.9882

D.9888

Answer: A.9828

Reference 1D:(14622) Choose the most appropriate usage to fill in the blank in the given sentence:

A small business must stay in order to succeed.

A.competition
B.competitor
C.compete

D.competitive

Answer: D.competitive

Reference ID:(14636)  Raram ST 9 Weg g ®Iveh qof o
fqamai=i Riewia d&qad THa, I AT ‘Aegad’ 81 Usg B 3Mg?

A e
B.fag

c.fodafar

D. 3R

Answer: c.lgafaar

Reference ID:(14854)  WTAlcUd! & IUTT IS Wl 3fSTT Gy 1R 2019 AT el gIcT?



Answer:

Reference 1D:(14890)

Answer:

Reference 1D:(14886)

Answer:

Reference 1D:(14851)

Answer:

A HERTY
B.ToRTd
C.HE Ux

D ISR

A TERTE

THT ST 40% AR HHART 3MTed. & HHATIRUSD! 50% HHAR]
T4 A1 3MTed. 1800 HHATAHUD! THUT 52% HHAR! Jd AAH 3Med. I
D A Aigdl HHATATE ST BT ]2

A.362
B.412
C.396

D.428

C.396

17 1 1998 ol STSaSATAT DIl fGad gidl?

A TR
B.IR=dR

C.[HAR
D.YHaR

AFYIR

eId 1T Jafandiel 3fge araR Hasl.
! gruarEt Hidt Tearges Sidr ot fafgiad sry o IgsTds! Uig [dhd.

A OTaT gaTaR groft uesor

EREESIRCIL|

C BTSN HTe B0l

RN Y]

RN Y]



Reference ID:(14881)  TIOTGE, 0T SATFOT HERIG ATedT A A adid UITR 5:8:11 318, IRT aNigdl,
T gt SRSl 60 aY gId. i adH 98 el (AuiHE)?

A.22,28, 35
B.18, 22, 32
C.20, 32, 44

D.19, 23, 29

Answer: C.20, 32, 44

Reference 1D:(14634) gcs‘\m IR YhR 3.

fRi&fepi=1 BTeh AR S0 e el ST ST,

A TsTef

B.F8% It
C.TgHd a1’
D.&%dd a1y

Answer: C.Tgad ard

Reference ID:(14630) &= SIFT IR SIIS2Teg foral.
fRrgeprel= e IS

A JSATHS]

C.BIchIgedT
D.YTRATR

Answer: B.HISHIAISH]

Reference 1D:(14620) Choose the most suitable conjunction for the given sentence:

my sister has blue eyes, mine are black.

A.As
B.While
C.Because

D.Since



Answer: B.While

Reference ID:(14632)  Udld sard il sfies.
T

AT
B Tlfei

C . AYHBIAT
D.3uhfelT

Answer: D .Y

Reference ID:(14628) gﬁmﬁﬁlﬁ g fawgrdf uafa e,

Answer: CH@"TITﬁ

Reference ID:(14650)  Jeld aiasaR =l i 3ryfen qafg fHasr.
qiTS! Heu-

A.JHTT e gIoT

B.9¥ST YT ot
C. &1 GHH Heul
D.HRUT gTau

Answer: B.a‘&la?[ UTed EﬂTﬁ

Reference 1D:(14868) ﬂﬁmg?ﬁ%ﬁ WA 0T asf JeareT 13 o7 fAUg = RIMHT HRuara
3{Teit

?

A.2013

B.2014



C.2015

D.2016

Answer: B.2014

Reference ID:(14875)  3{TUedl IRATIPG A WTeTd @8 U8 3MTg:

B.X[%
cay

D. {5

Answer: Cdy

Reference I1D:(14613) Choose the appropriate articles to complete the given sentence:

My best buddy got jobin MNC which was launched recently in
outskirts of Mumbai.

A.the, the, the
B.no article, the, a
C.a, an, the

D.an, a, the

Answer: C.a, an, the

Reference ID:(14648)  TTeTd 9 SYUIRT g fAgeT.

Answer: D.?j'cﬂﬂ%q

Reference ID:(14882)  TRIERI PTGl
66, 80, 77, 99, 88 & 100



A.75
B.99
C.85

D.100

Answer: C.85

Reference 1D:(14625) Choose the correct form of tense for the given sentence:

received the Padma Bhushan award from the President, he
not want to underplay it.

A.To have, did
B.Having , did
C.He, would

D.Having, must

Answer: B.Having , did

Reference 1D:(14892)  ¥d:21 WY A¥II=AT 6/7 oA e, T ekl 12 fAfe I=RT Uig=dl. o
3R HIYUYRTST HTHI: AT fddl 9 drTd 3d?

A1 dr 42 fafe
B.1 A
C.2dN
D.1 ar 12 e

Answer: D.1 49 12 fafae

Reference ID:(14855) 26 HIE 2019 IIolt, HasHed WIeiade! HIvId HAdbd garedl 84 1 a8 e
UIqal?

A foeff Rt
B.Ud. Td. Srfem
C.312Meb I1d Pl
DA $OH

Answer: B.Ud. T4. Sricmr



Reference ID:(14867)  HRdI AfGUMIdId Herd 213 300, JSTTd TG SRR HRUIMET HUBR
WA TAUD! BIUMDHS 3HTR?

AT

B. 13T Hferdrerd

C.SIATTAITS AT

D.X1sg4Ted

Answer: ERIIN]

Reference ID:(14861)  Sa-dH UITHT (W W= SEIRITRM) SFTfde Jufieumaed 3rruft 10
e R fHsquR Ufgd YRA &Y WY WBTg § 3ed:

A IRT 9NTe
B. ST A

C.&. 3. 9yg
D.USd U6

Answer: A.‘v'ﬁ?ﬁ bILIS]

Reference 1D:(14616) Which of the following options best combines the two given sentences?

The doctor arrived late. He could not save the patient.

A.The doctor arrived late, but the patient could not be saved.
B.Although the doctor arrived late, he could not save the patient.
C.As the doctor arrived late, he could not save the patient.

D.Although the patient could not be saved, the doctor arrived late.

Answer: C.As the doctor arrived late, he could not save the patient.

Reference ID:(14645)  3dadHid U do- dhrl.
ST 3h SRITHA Al b UT AIBTT ST FifTdedT STTdTd.

A STTTAT UhT SR Al YT diTed] I TiRTda Sird.
B ST UehT SRITHEN e T diTead] ST HiltidedT SITdTd.
C.SATIddT 3 SRNTHEH TAIh YT ITTedT - i idedT SITdTd.



Answer:

Reference ID:(14615)

Answer:

Reference 1D:(14900)

Answer:

Reference 1D:(14887)

Answer:

D.SRTTAedT UehT CRITHY AlbdhUT diTeT e Hiftiaa Sild.

A STTTAHT UehT SRIMHEN Al UT dTTeT e Hiltlaa Sild.

Choose the most suitable determiner for the given sentence:

Can | have cup of coffee, please?

A.other
B.others
C.another

D.little

C.another

Tear auff wmesHed 610 faemeff gia. € ke a1 auif 20% =t it Frett. a1 ast
s HEd Galdl TReT g1 atear ThUT TRAAT 175 Tadb 3d ok AT
fobefl gt 3.

A.854

B.848

C.798

D.782

A.854

Greil fadiedn Yacued sidiar T i1y Y faddr 318, YR g iar A
3fics:

17, 20, 46, 147, 599, 3015, 18018

A.20
B.46
C.599

D.147

C.599



Reference 1D:(14856)

Answer:

Reference 1D:(14866)

Answer:

Reference 1D:(14857)

Answer:

Reference 1D:(14869)

Answer:

QIATAUD! DI SHTRRIPIT ST HHeAT (THIETT) 2019 HE Uiged
hHiehTd R YT het?

A G SRATgA
B.fU! IRT
c.Faa s’k=

DA BiH

DA BiH

YR HAUTT Herd 368, WAUHTT fdbdl FehRedT el UG Hd?

AUdh
B.UTd

cad
D.GH

D.gH

HERTY TR Y T AT § QIedush! HI0dl Thl —eHE ATg1?

ATES
B.ANTQR
C.3TEG

D.qul
D.qul

AT 1T WERT TagR HAT (THSHTEgY) S0 A Nite arH W
YR U= (THETH) T et GUIRITST HI0TdT Uehed fadmRId HRugrd 3{Ta?

ATTH
B.Id®

C R
DIl

AGTH



AN

Reference ID:(14862)  Ud YU ARTQR A T IgUTe bl gld.

AT 2018
B.ATd 2019

C.SHaRT 2019

D .S 2019

Answer: B.ATd 2019

Reference 1D:(14605) Choose the appropriate option with the correct punctuation marks for the
given sentence:

can you raise the toast to the bridal couple i inquired

A.“Can you raise the toast, to the bridal couple,” | inquired.
B.“Can you raise the toast to the bridal couple?” | inquired.
C.“Can you raise the toast to the bridal couple | inquired.”

D.“Can you raise the toast to the bridal couple | inquired?”

Answer: B.“Can you raise the toast to the bridal couple?” | inquired.

Reference I1D:(14617) Choose the correct form of modal auxiliary verb for the given sentence:

Please make photocopies of copyrighted material without the
permission of the publisher.

A.mustn't
B.don't
C.shouldn't

D.needn't

Answer: B.don't



Reference ID:(14644)  Jéiat arerimeier fa=ivo sfiea.
JIeoaTE U< ehload Uig=aT TMUdsil d7TesdT el STl aR?

LA
B.3T
C.R

D.Uc

Answer: A.§‘Eﬁa€<‘>‘ﬁﬂ

Reference 1D:(14604) Choose the appropriate option with the correct punctuation marks for the
given sentence:

although he was tired he completed the work on time

A.Although, he was tired, he completed the work on time?
B.Although he, was tired, he completed the work on time.
C.Although he was tired, he, completed the work, on time

D.Although he was tired, he completed the work on time.

Answer: D.Although he was tired, he completed the work on time.

Reference ID:(14893)  Tdh Hail 5 fbil/diean a1 91 U Ud 15 AfAdaed siiqigdl. gard! diet
P 3T (HieHH)?

A.1250
B.1280
C.1320

D.1340

Answer: A.1250

Reference ID:(14880) g 25 auidl ATOT =T 35 aufar 311g. et auigdl e aaid UIRR 3:5
BId?
A.10 T
B.5 T
C.20 %



D.37 9%

Answer: A.10 aﬁ‘

Reference ID:(14852)  HRdIG gl HYal TUR HRUANTST Hfdu™ faUm=aur RA1Ud SRR Ial
e 3regel DI gld?

A ST, T, JAUTHUH
B.SI. INig UG
C.Sl. dl.3R. ffldgH

S CIRGINEGRRS

Answer: C.E1. §.3R. 3fdEH

Reference 1D:(14607) Choose the correct form of adjective for the given sentence:

Amit is guided by his intellect and not his emotions. He is

A.clever
B.rational
C.brilliant

D.cunning

Answer: B.rational

Reference ID:(14638) U1 yafarit fAgs &,

Answer: B.SddY

Reference ID:(14863)  YRd-AIC AT Tgad SRIGRI Ter 11 dt Uid-gg<raarg
YT Y SN Bt giel,




Answer: D . Ha]]

Reference ID:(14859)  WIciiaidas! Bl faxegIR 2018 I1 aufALRd SHIda Hafd 3Tl Afga
fhohcdg WUH UIftd ol TIai?

A farTedt st

B. Sl YT
C.BHAWd BR
D.dq el

Answer: B. cil HYTHT

Reference ID:(14888) R oIl dvg wiveat fFagH @@ qui ax:
4,8, 24, 96, , 2880

A.590
B.1072
C.250

D.480

Answer: D.480



Reference ID:(14883) el fadiedT IR Ui SI0TaT Uil WTel! feciedr Twam=it srgeuul Jod
ATgr?
OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),
10 Markaz I-10, Capital Territory 44000,
+92 51 4430622
(i) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),
10 Markaz 1-10, Capital Territory 44000,
+92 51 4430622
(i) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),
10 Markaz 1-10, Capital Territory 44000,
+92 51 4430622
(iii) OFFICE # 04, ALI PLAZA,
NEAR HABAB BANK (HBL),
10 Markaz I-10, Capital Territory 44000,
+92 51 4480622
(iv) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),
10 Markaz I-10, Capital Territory 44000,
+92 51 4430622

B.ii
C.iii

D.iv

Answer: C.iii

Reference 1D:(14608) Fill in the blank with the correct form of the noun for the given sentence:

Molly takes part in a lot of extracurricular

A.activity
B.activity’s
C.activities’

D.activities

Answer: D.activities



Reference 1D:(14603)

Answer:

Reference 1D:(14623)

Answer:

Reference 1D:(14631)

Answer:

Reference 1D:(14639)

Choose the option that correctly spells the words to be filled in the given
sentence:

This event is inevitably going to the elections.

A.affect
B.effect
C.afect

D.afact

A.affect

Choose the correct form of verb that is in agreement with the subject:

He lay on his bed, while the rain through the windowpane.

A.watching
B.watch
C.watched

D.is watching

A.watching

WU T THTdid Repr Sl I [eg U SIS eq YUl .
SR AP CE R CORTRG R DR R i [ —

AIY
B.HS®H

CHD

D.RIR

D.RIR

YN fohamerT UHR sfiew.
TSI ATdaTe ST il ad.
Afewds

B.JhH®

C.3[PHSB



Answer:

Reference 1D:(14649)

Answer:

Reference 1D:(14878)

Answer:

Reference 1D:(14897)

Answer:

Reference 1D:(14876)

D.Heldd

Afgede

JddIde’ I YeaTd farell SIST&N 3gd?

A1
B.2
C3

D.4

A1

N

M B hebdl Tidl. THUT 07 favd T SYugrt YU H1 3HIg?

A1/3

B.5/12

C.712

D.12/7

B.5/12

A T& BT 24 fGa9id guf Hxdl, B a9 &4 9 feawia $for ¢ d &1 12 faawid
qui xdl. B 3107 C 1 Y= drard ol 3 feadi= i1 w19 WigH &1d drTd.
A Ricas Afgera & fard! feaaia qui s

A5 fead
B.6 faay
c.10 fieqq
D.12 f&aq

c.10fedag

SegT YU gl dagT WTeTd GRIT Welierdep! It ST 3RTa:

AR 3Id
B.TTTS AT 3Td



C. e HEMIaR
D.HiouT Srerarah

Answer: C.Hipan fl'cﬂqﬁ?

Reference ID:(14899)  WTdit fadiedT @A 3iehial U fafRiy oH fadid 38, AR Iebial hH

1, 8, 66, 460, 2758, 13785, 55146

A.460
B.2758
C.66

D.13785

Answer: A.460

Reference ID:(14873)  WAUd! HUITAT ARIS! WIS Ufeel UG TSGR fHesran?

A.fow @iger
B.fava ary

c.fasg dgaar
D.q8d HHCHR

Answer: A faw] Wi

Reference ID:(14874)  f3ra {fIHR=A1 HedT=a Ud deditd! Uh- a%d Jads ot goR Ifed §
HERTYTEAI WelTdUen! bIUT AR fRUd 3Me?

AATRIS
B.AicS

C.ATTR
D.q0!

Answer: B.ACS



Reference 1D:(14610)

Answer:

Reference 1D:(14646)

Answer:

Reference 1D:(14612)

Answer:

Reference 1D:(14618)

Choose the option with the appropriate suffix to complete the given
sentence:

Have you applied for any scholar so far?

A.-hood
B.-ous
C.-ship

D.-some

C.-ship

Jeid diaided divg o 3oy T,
IR I Hm Tard PRIERIL IR REIE

AYTT

B.pRUI

C.7UH
D.gdd

A4

Choose the appropriate articles for the given sentence:

My brother lives at hotel in metro city to complete his
coaching in summer.

A.no article required, the, a
B.a, the, the
C.the, a, no article required

D.the, a, the

B.a, the, the

Choose the appropriate preposition for the given sentence:

Granny is arriving 10.30 p.m. the Dehradun Shatabdi.

A.by, at

B.at, by



Answer:

Reference 1D:(14627)

Answer:

Reference 1D:(14633)

Answer:

Reference 1D:(14865)

Answer:

C.in, at

D.at, in

B.at, by

3T HROP Tt 3Nt a1 TrsarE 31d-

AU}
B.UIC
C.Hmr
D. 3

AYa}

qad a1 BRI Tt &,
AT RIS T AT el D1 B dihl dda?

A AT RIS} 1 AT e HTe MY et AT,
B. =T FRIEUTNTAT 1 TS ai 9d Plal P,
C. AT RIGUTRITS! T A1 diH Plg! BRI dlh! dadl ATgl.

D . g FRIGumErdt &1 A di+ Sl &l ATgl.

[a¥nY

C.garA fRIeumdt A1 Ar&eli+ B1a! BRI sTeh! dad ATgl.

TG NS Herel! afifer 3R Harad gl

A IO 3

B.favur 3y

C.rle 31

D.4Y 31T

A TIOR3



Reference ID:(14647)  Jeld dledTdid [aRTHIg 35,
91 Y8 FeHad I8d BId; U 37Ts fddhs Fud .

ABERTg

B.3qUifaRTH
C.3rdffavmm

D.UYg

Answer: C.G{?ﬁaﬂ'ﬁ[

Reference ID:(14860)  WeRTETHA . s Pice ST A1, a1 Dl A1 QraiT 2019 HL JTeAeudD!
HIUTAT A U St [REBR 0T SHTAT?

A ffedr- geasuRt A

B . gTHIST® HTI-UTuT HedTol
C.Oifigd-uaA®IIRdl
DR

Answer: A RIfedr- Rasumt A

Reference ID:(14871) 1878 Hed &=t O S1fefgw oiivd a degT R BlsuR1g HI0T BIdT?

Adrs Rud
B.dIS o
c.drs feferemm
D.qle féred

Answer: SIS

Reference 1D:(14624) Out of the following options, identify a compound sentence.

A.He was having a bad tooth ache so he had to go to the doctor.
B.He was suffering from this pain for a week.
C.Despite this pain he was continuing with his work.

D.But now he could bear it no longer.

Answer: A.He was having a bad tooth ache so he had to go to the doctor.



Reference ID:(14885)  WIdild UY § Wil faeiedT U o9 3idh! TReTiaR ST 31Tg:
466 357 522 847 345
R U ST AdcT bTHYA 1 TS el aR SRMYBR TR gIom=T faveit
T=HT g faHTsT Sradia?

AUdh

B.IR
C.aH
D.<H

Answer: D.d=

Reference ID:(14635)  Gald IR A TRY dIRT 3Ncawl.

A 3T HTITAT ol ST,

B. 37U AN Sot] SHAT.
C. 3RO AR ST SHA.
D. 3TTUTd AT H3! IHAI.

Answer: A ST HTITAT ol SHee.

Reference ID:(14640)  HHUR fhamgeran amg SR fAas &,

fereie™ AcH

A Sgide
B.Sfadl
C gafad
D. Sl

Answer: c.sgfaa

Reference ID:(14884) Ul fafR1y Hidbfde UNH, 4v/3x/1t/ T8UST animals in zoos, 8y/7d/4v/ TgUSI
wild animals kill, 31107 9a/2f/7d/ TEUIST kill the beast. TR T Hidvlcldh UNHE
wild R[eGTITAT DIUTC TS 3TA?

A./8y

B.8



CY

D.8y/

Answer: D.8y/

Reference 1D:(14609) Choose the appropriate collective noun to complete the sentence:

| have a huge of friends in my home town.

A.troop
B.collection
C.circle

D.crew

Answer: C.circle

Reference ID:(14891)  TRI&H 70% IHedR ifergmed I<ivl gira 3for 55% IHGIR A=gHe Il
Tal. SR 62% IUGAR als! faugiaed 3<ivl ATa 3/ did, a) alal GilaiAe

fohdt e IHGAR AU FATd.

A37%
B.26%
C.43%

D.15%

Answer: A.37%

Reference ID:(14853)  3fTfgedl a8 AT WIATdUD! BT Rl Hafd gia:

ABIBH

BIO®AIS
C.Rieftar
D.HI

Answer: A.@W



Reference 1D:(14611) Choose the option with the appropriate suffix to complete the given
sentence:

The children played in the glori sunshine.

A.-fied
B.-fy
C.-ous

D.-fication

Answer: C.-ous

Reference ID:(14895)  Uehl TUATAT 12 Tiedl f[ddpH, gHTGRIAT 20% TICT Bid!. TAERIIE 20% BT
resauaraTa!, A ST fohdl e e fawh! ®Rrdr?
A.14
B.8
C.11

D.9

Answer: B.8

Reference ID:(14637)  fediean ®1e1d uRkad- sRUgMTa! TG qaig fAgsT.,
31T HaTeR ITae. (S adATDIeD)
ATTad 39

B.IFTad gl

C IFTad 39d

BRIUCLASIES

Answer: CINTad 3d

Reference ID:(14641)  UaId ArTdId ST UHR IS,
“3{qd! hdel Uoie YdaT SHT hadl 31T AT

A TNt 3T
B.haaudN 3/eqg



C.IHIa4T 3T
D.foranfaxior sremg

Answer: B.p Iyt 3y

Reference ID:(14896)  Udcl A Udh $H 6 faauided 101 Udkhel B d HH 8 feawined guf &l A
3101 B I+t d 1 3200 TUTHS HRUAT 33ddl. C AT HaaH, At 3 feadid
HIH YUl dal. C a1 fod! UaM o SI1d?

A, 375
B.%. 400
C.%. 600

D.%. 800

Answer: B.®. 400

Reference ID:(14643)  JaId ATHIAT 3T faRISomaT g fAger.
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